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Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct, fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or fllling two or more circles will result in zero mark in that question
---- i3 a Graphical representation of an Algorithm : @ & A d;ﬂ Ly Z,F S— ) /{U;,«
(A) Matrix /§ (B) Graph oS (C) Solution (f (D) Flow Chart ..‘.ug:a (1)
It is not type of Test Data : - -4 (:’ § e i @
(A) Boundary Test Data Liocfd b3, (B) Valid Test Data  Lldchmms
(C) Complete Test Data &5@:‘&‘ (D) Absent Test Data Qﬁ.‘a.:“.,.«.?f:(x
: e 05 de L~ (A+B)«(A+C) HeH ()
Expression (A+B)+(A+C) is equal to ---—-- :
(A) A+(B+C) (B)A+B+ A+C (C) A«(B«C) (D) A+(B+C)
Hard Disk is an example of -----=- N < J& L .—Cﬁ/& 4)
(A) Primary Memory 2§ Az (B) RAM (% (C) Secondary Memory (%) S.4£ (D) ROM (o
Pt el S LT e e LT L RS & Skl )
Routing is a process of taking data from one device and sending it to another device
in different ------- :
(A) Channel ¥ (B) Network s (C) Path 4| (D) Area |/
Hub is used in ~-----e--- Topology : S 3,« Je1 G )y ...... -t (6)
(A) Bus Topology &JVUJ' (B) Star Topology (/i
(C) Ring Topology J-:’?JD (D) Mesh Topology (ﬁ:'ygf""
q—u-f’(:‘J EA R Sl B3l ()
Which of the following does not include the type of Software Piracy
(A) Softlifting Wil (B) Liability (/s
(C) Client Sever Overuse J{/»b;/efsfl.‘ (D) Online Piracy t,d/’!;gfﬂuf
Who is Hacker - ol A (8)
(A)Antivirus JHs (B) Computer Expert &, /’},ﬁ{ (C) End User 2§77 (D) Protocol Jﬁ:{
et Ll bt B K ] (9)
----Tag is used to Display Data in Tabular Form
(A) <td> (B) <table> (C) <tr> (D) <th>
Lt Jo FE e AL LL S S ey HTML (10)

To save the HTML Page, we use ------- as File Extension

(A) HTIML (B) HTM (C) XHTML (D) Both A and B
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(a1 0] Bp (23

Describe Candid Solution. -é Uk J)’ﬁkf M 2 /{’JV
Define the Flow Chart. -é..g/’ J ..w;,ﬁ (i)
Explain the importance of Testing. -i 5 lseil d, .2 (iii)
What is meant by Problem Analysis ? ?q_:l/kfé—é.fﬁ.l’/ (iv)
Why Hypertext is used ? YUIZ—/JWU[&’?#& v
Describe the Body Section in a Web Page. -zf{uy us"; 39S T 0D
Explain Volatile Memory with example. -’{; el AL J dJA'J’EU” @ 3/fUL¢
Convert (1011), into Decimal Number System. -’:fgdiu:rw}dzwl 4 (1011 )y (@)

S YIS sl bl n A Seinpisnssia i

Which Number System is used in our daily life and what is base of that number

system?

Explain Logical NOT Operator. “Zesln § T NOT U Gv)

What is Copy Right Law? e i wIbeALdE o)

What is Sabotage ? S i U)o

What is meant by Hardware Sharing? ?q_JI/y' & ..6’;-.‘;;,54 (i) 4/1Ulr
Write a short noteon Client Server. -é,‘fa ) ,/zf # u/e«&'l.‘ (i)
Define the Ring Toplogy. -2{4/7 J u’:'y-.ﬁ (i)
Explain IP Addressing. L eoles § L P v

S bne £ L/ Lo S HIML )
Which Tag is used for making table in HTML?

Define the Anchor. -é..y/’ J A (vi)

(Partll) 5.2

) S pESLS K winf § aipgh T 5
How do you determine requirements for a Flowchart?

(8) Explain the Routing. -é.:»u, J -y 6/:‘Ulr

®) B K 2lalo st Sl dblnge LS S Ll 1)y

Analyse the Personal Piracy and Security Concerns that arise with any use of

""""" g

O0})-03-2e23

Computational System.




-

Computer Science c L.K.No. 26 Paper Code No. 5836 LI R o

Paper - | ( Objective Type ) Ist - A - Exam 2023 |[ (Group Il s ¥s) (;)u";,v ) |
Time Allowed : 15 minutes SSC(Part-1) <15
Maximum Marks : 10 Session (2020 -22) to (2022-24) LMW ) 49

@ Buw(~2 <273

<4
o)

s AS

LAYz UST ern T § 2Pt lns D,C, B, Azl Ly 2536 Sra izl ot 2
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question

¢ = (B Usdo s Jiw1 u‘-'.'d’h J 2 e’
The number system we use in our daily life is --e--- §
(A) Decimal Number System ¢WJ,*#! (B) Hexa Decimal Number System ("/ /Jd' S
(C) Octal Number System (l&'ﬁg}’r T (D) Binary Number System ruﬁét':

1/
1

PRS- AR LRI I WY 8 v
Which Solution is not reached through proper Algorithm or work planning :
(A) Prepared Solution S (B) Candid Solution Sl
(C) Strategized Solution J’ u;&’ =P (D) Best Solution J’ LA

@

In a Flowchart <> symbol is used to indicate : 93);7&' ol J <> e .wt'a):’
(A) Decision Yibded (B) Input e
(C©) Output e 3T (D) Progress dﬁ{

®)

Number'17' is equal to - in Binary System : '@ <& bk Y alp— ‘17 '/" A (e"/ u’/’ﬁ,
(A) 10000 (B) 10110 (C) 10001 (D) 10100

@

& df di J bnfk pid] JUJ(G—JJ_JZ'/A
Which of the following is not a characteristic of good password : .
(A) Is Eight Character Long dl)dlp"j (B) Does not contains user name s 4%y
(C) Contains upper case letters q_‘}?'{_i,ciz_‘/.
(D) Password is your name only & jeiin {rtﬁ.rTJ/b:d L

©)

WWW stands for : 5 & i WWW
(A) World Wide Web (B) World Wheel Web
(C) Wheather Wide Web (D) What Wide Web

(6)

The IPV4 Address is made up of -------Binary Bits : @ & e J”d/ly ------ Vbl TPV
(A) 31 (B 29 (O 32 (D) 30

()

) QIIGATIIG sl { PIAL LT " n e biss T5600)- U P20
s n g S
" In Benazir Income Scheme you won a prize of " 75600 ". This type of message you
receive on your cell phone and ask you to call a number which type of this Cyber
Crime is : (A) Hacking S (B) Advance Fee Fraud SIMJ, a4t
(C) Identity Theft (J5 =3t (D) Piracy (%7

8)

Which Topology uses more Lengthy Cable : g . dsr Ji1 b whic e GBIy o
(A) Bus Topology d;’gu{ (B) Star Topology JJp.t
(C) Ring Topology (,Uy.f/ (D) Mesh Topology J)k‘g}r

©)

PLS S FEE e GLLL S S gy g
To save the Web Page, we use ------- as File Extension
(A) html (B) «doc (C) +xls (D) «ppt

(10)

--------- A e p)
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Note : It is compulsory to attempt any (4 -4) parts each from Q.No. 2, 3 and 4 while attempt any (02)
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(Part 1) ol Q.5 9]

Make any two symbols of Flow Chart with names. -é_bm’bé (b:—Wi » Jf J .:,4”5 M 2 ﬁ;dly
Write a note on Efficiency of Algorithm. _agdg, s 4 64 Pr's J rf{ﬂ, (i)
Bk § 2uh LS L& w)

Describe the importance of Flow Chart in Problem Solving,

Define Test Data. | -é-»;j}? J Gl v
Write the basic text of Formatting Tags. -u:ll'r: :—ﬁu;yt ¥ 79..&;‘16 W)
Write a note on Head Section. -é‘:a Ly uy;}ﬁ (vi)
How Data is represented in Computer Memory ? : ?4.?!!4/ APVE &3 Ut Stind ) 3401
Convert (110101111), to Hexadecimal. U LSS (110101111), qi)
Differentiate between Storage and Memory. _ e O L G o Eude Gy
Draw the Truth Table for Compound Proposition. il &;’}/‘ L ﬁ){l{fcig{ (iv)

What is meant by " Key of Software" in Piracy ? el FaMSTE e A v

v
What is meant by ONLINE PIRACY ? Seslpe AT v
_éu&: g _fuég’ L JCM.:,J (i) 4/,‘UI,~
Describe Point to Point Connection with example. Sl S uiﬁ’ ..‘xw’l{j}g,sfl{ (ii)

Describe the Network of Networks.

Define IPV4 with example. -Zf;bé’/".ib'ﬁdl? J 1PV4 Gin
Define URL. -2y § URL @)
Define Singular Tag. -2’£:-—9,’/7 J ..?)F W)

g f W HTML L L2 S 1 S * School ' 3 viy
Write the HTML Code to make word ' School' Italic.

(Part ) oo
®) Lt N EURPEL L) P Lt gheoln § P L ko 54

Explain the defining problem. Also write about three strategies to define a

problem.

® | e Qe ool et = GRS 64
What is meant by Bus Topology and how does it works ?

(8) Write a note on Ethical Issues related to Security. -’4!“ o7 g J/L-A d"wly & ‘:‘JZP 7 ,.Uy,,

02.—03—-;_@3__37” = 7/



